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General Instructions    

1. There are 50 Questions.                                                                                    PHYSICS PAPER - 1 (THEORY)––  

2.ALL QUESTIONS ARE COMPULSORY  

3.The marks intended for questions are given in brackets [ ]. 

4. Please fill OMR sheet with pencil. 

 

Question 1.When the length of the conductor is doubled and the area of cross section remains the same then its 

resistance 

 

 ans b 

 

Q2. Electric potential due to an electric dipole is related to the distance r of the observation point as: 

 

  Ans. D 

 

Q3. What will be the value of sinØ  when we use soft iron core in moving coil galvanometer(where Ø is the angle 

between the radial magnetic field and the surface of soft iron core) 
 

 

 ans .c  



 

 

Q4. The SI unit of electric flux is  

 Ans d 

 

Q5. The Gaussian Surface 

 

 Ans a 

 

Q6. Select the correct statements from the following : 

 
 

Ans. D 

 

Q7. Equipotentials at a great distance from the collection of charges whose total sum is not zero are approximately 

 

 Ans . a 

 

Q8. Consider a uniform electric field in z direction. The potential is a constant 

 



 

 

  Ans. D 

 

Q9. A parallel plate capacitor is connected to a battery as shown below: 

 

 Ans. C and d 

Q10. 

  
 

         Ans. D 

 

Q11. A charged particle will not move with a constant velocity in a region where 

  Ans c 

 

Q12. A current carrying a circular loop of radius R is placed in x-y plane with centre at the origin. Half of the loop x> 0 

is now bent so that it now lies in y-z plane 

 



 

 

 Ans a 

 

13. The magnetic flux threading a coil changes from 12 Wb to 6 Wb in 1 second. What is the induced emf? 

 

 
Ans d 

 

14.According to Lenz’s law there is a conversion of  

   Ans d 

 

15. Two coils are placed closed to each other. The mutual Inductance of the pair of coils depends upon  

 

 Ans b 

 

16.  

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 
 


